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=50.24 +3.14 + 2 = 8(cm)




9] E¢ 9] Zol2 T2,

| 2
> HEH 69.08cm
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A1 15x3.14 = 47.1(cm)
o] {o] & 5x5x3.14 = 78.5( cm?)
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(¥F) = (A8) x3.140|2=2
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(A%) =53.38+3.14 = 17(cm) 0|22
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2150l 9em ! YHE FHEY AE7F =291 A217F 621.72 cm
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= (89 WAF) x (879 )

=10 x 31.4 = 314( cm?)

Sy,

=



ERl

13.

A 2.

q_

6cm

7Y,

N4

7.74.cm?

ul

i
T
ld
-

o/

]
=T

7t

~—

—

<

—

o

X

o

X

(ap)

~—

_2

)pmv

6(
=

o =

= D~




14.
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AU o] A"t ARFA fLrgo] FA] g2 B HWolE
ToHA L.

> = cm?®
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— 116.965( cm?)
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22 9] ¥HA 5L 10]2k7 o
2 Yo ¥R &2 27 gyt
247ke] Yolg b

(& 99 Hol)=2x2x3.14
(A2 g9 ¥Wo)=1x1x3.14

A
(2x2x3.14) + (1 x1x3.14) =40|B&
2 ¥ yol= 22 99 Wolo 4ujdy .




16. ¥9F7169.08 cm?l Yol Wol5 4L51H dnt
D 34.54 cm? @ 69.08 cm?
@379.94 cm? ® 1519.76 cm?

U7

® 216.91 cm?
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LR ERENE
(¥F2]2)x2 x 3.14 = 69.08
(§F2]2)x6.28 = 69.08
(FFA]2)= 69.08 = 6.28
(F25)=11(cm)
o] Wo] 1 11x 11 x 3.14 = 379.94( cm?)
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» EH: cm?

> A 113.04cm?

"] S @ 37.68 + 3.14 + 2 = 6(cm)
Blo] 1 6% 6x3.14 = 113.04( cm?)
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> HEHD 53.38cm?

(Fo=d) = (A5) x3.14

= (2 5) x2x 3.14
(B2 &)=(¥<9 =d9)+2 + 3.14
(Y 7}] HEA] 2= 56.52 + 2 + 3.14 = 9( cm)
(Y o] HEA 2= 50.24 + 2 + 3.14 = 8(cm)
(¢ 7het A e wel9] 4t
=(€& 719 wol)- (4 o] yel)
=(9%x9x3.14) — (8 x8x3.14)
= 254.34 — 200.96
= 53.38
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[ ]=11(cm)
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~&B

(=) = (Bdadd=a) + (
= (12x3) + (12 x 3.14)
= 36 + 37.68
— 73.68( cm)
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g o] dol7h10.99 cm @1 AR o] S22t

o] Holg oA L.

>
> ®Eh: 153.86.cm?

(49 =) =(BAHAd 9 =) ol2=
o] E+10.99 x 4 = 43.96( cm)
=, Y9 BRI 52 43.96 + 3.14 + 2 = 7(cm)

uheta] e golE ot
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e BRI Yol7h e o] xS [ Jekx 5t

x| ]x3.14 = 113.04( cm?)
x| ]=113.04+3.14
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15¢m O] O+@=A%0] 15cm¢ 9] ¥F
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